Chap8hw
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
When a tax is imposed on a good for which the supply is relatively elastic and the demand is relatively inelastic,

	a.
	buyers of the good will bear most of the burden of the tax.

	b.
	sellers of the good will bear most of the burden of the tax.

	c.
	buyers and sellers will each bear 50 percent of the burden of the tax.

	d.
	both equilibrium price and quantity will increase.


True/False
Indicate whether the statement is true or false.
____
2.
The Laffer curve is the curve showing how tax revenue varies as the size of the tax varies.
Short Answer

3.
Suppose the government levies a tax of the vertical distance from point A to point B.  Using the graph shown, determine the value of each of the following:

	a.
	equilibrium price before the tax

	b.
	consumer surplus before the tax

	c.
	producer surplus before the tax

	d.
	total surplus before the tax

	e.
	consumer surplus after the tax

	f.
	producer surplus after the tax

	g.
	total tax revenue to the government

	h.
	total surplus (consumer surplus+producer surplus+tax revenue) after the tax

	i.
	deadweight loss
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